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04 DIZFSALALS B X 5,000 13,000 A8,000
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OO0l AtE Z&E LIS A 348 0 0 8,000 A 8,000
X GASI M A EXALY 169, 164 169,375 211
Xl 135,831 136,000 A 169
[ 10,000 10,013 A13
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Xl 3,300 16,000 A12,700
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Xl 12,600 18,720 26,120
=) 900 1,404 A 504
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= 4,200 2,800 1,400
z 1,800 1,200 600
307 8I2t0| & 6,000 4,000 2,000
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= 1,562 12,562 A1,000
2 63,979 68,410 ~4,431
A RIAY 2l 11,738 15,000 £3,262
2 5,869 7,500 A1,631
2 5.869 7,500 A1,631
201 Y2 bl 4,368 6,000 A1,632
2 2,184 3,000 ~816
2 2,184 3,000 ~816
01 AR 22t 4,368 6,000 A1,632
OAR2IAY 2| 4,368 6,000 A1,632
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2 2,935 3,750 AB15
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< 2,000 3,000 A 1,000
s 2,000 3,000 A 1,000
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= 0 1,800 A 1,800
201 Let24d] 0 6,000 A 6,000
= 0 4,200 A 4,200
[ 0 1,800 A 1,800
01 At 2teltl 0 6,000 A 6,000
OSY Atdlzel X 23 0¥ 0 6,000 A 6,000
= 0 4,200 A 4,200
s 0 1,800 A 1,800
Mol = 5,800 5,200 600
< 600 0 600
s 5,200 5,200 0
Mol 2= 5,800 5,200 600
< 600 0 600
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301 et Az 5,800 5,200 600
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